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QUESTION [JEE Mains 2021 (August)] ) — hOY @
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Property 3:
[f each term of a G.P. be raised to the same power, then resulting series is also a G.P.
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If each term of a G.P. be multiplied or divided by the same non-zero quantity, then the
resulting sequence is also a G.P. with Rowme <R,
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Property 5:
Ifa,,a,,a;3 ...... and by, b,, b; ..... be two G.Ps of common ratio r; and r, respectively, then
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Property 6:

In any GP square of any Term is equal  product of its two
terms which are equidistant from it.
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Property 7: |

Ifa,, a,, a,, ...., , is a G.P. of non-zero, non-negative terms, then log a,, log a,, ....., log a, is
an A.P. and vice versa.
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Definition :
If a, b, c are three positive number in G.P, then b is called the geometrical mean between
a and c and b? = ac. If a and b are two positive real and G is the G.M. between them, then
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QUESTION [JEE Mains 2025 (22 Jan)] )

Leta;, a,, a3, ... be a G.P. of increasing positive terms. If a;az = 28 and a, + a, = 29, then
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QUESTION [JEE Mains 2025 (7 April) ] ) @

[f the sum of the second, fourth and sixth terms of a G.P. of positive terms is 21 and the
sum of its eighth, tenth and twelfth terms is 15309, then the sum of its first nine terms
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QUESTION [JEE Mains 2024 (29 Jan)] ) @

Ifin a G.P. of 64 terms, the sum of all the terms is 7 times the sum of the odd terms of the
G.P, then the common ratio of the G.P. is equal to
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QUESTION [JEE Mains 2017] ) w  KCLS % &

For any three positive real numbers a,b and ¢, if
9(25a% + b?) + 25(c? — 3ac) = 15b(3a + ¢), then:
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QUESTION [JEE Mains 2023 (10 April)] ) Lorern UK (k)
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Let the first term a and the common ratio r of a geometric progression be positive
integers. If the sum of squares of its first three terms is 33033, then the sum of these

three terms is equal to
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QUESTION [JEE Advanced 2014 (Paper1)] ) + % KCLS % & @

If a, b, ¢ be positive integers such that - is an integer. If a, b, ¢ are in geometric

2
progression and the arithmetic mean of a, b, cis b + 2, then the value of s is
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Problems Involving both A.P & G.P.



QUESTION [JEE Mains 2025 (7 April) ] ) @

Let x4, X,,X3,X, be in a geometric progression. If 2, 7, 9, 5 are subtracted respectively

from x4, X5, X3, X4, then the resulting numbers are in an arithmetic progression. Then the
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QUESTION [JEE Mains 2024 (29 Jan)] ) @
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